'E KEDA
HYDRAULIC

TYPE CODE

K11V L O 190DR/10 R

01 02 03 04 05 06

AXIAL PISTON UNIT

01 _chsh—plate design, variable, nominal pressure py 350 [bar], maximum pressure pme, 400 [bar]

_CHARGE PUMP
0:’]:V\lithout charge pump
\With charge pump

_OPERATING MODE
GS_Pump. open circuit

SIZE

04 Geometric displacement gy, max [ML/r]

CONTROL DEVICE

Pressure control
with load sensing
hydraulic remote control
for parallel operation

Power control

override high pressure negative
dependent

cross sensing negative
pilot-pressure negative
related positive
electric U=12V negative
electric U=24V negative
03 with pressure cut-off
secondary
hydraulic remote control
with load sensing
electric prop. override
hydraulic prop. override
with hydraulic negative Ap=25bar
stroke limiter

positive Ap=25bar

Ap=10bar |
with electric  positive U=12V .
stroke limiter u=24v | O
NOTE: @ available O upon request - unavailable

001

Ap=10bar |

O|QlO|O|0|C|lo|g ool |o|0|0 0|0 O |Ojlolole]|o

[ ." )

&
o

- N
no
o

40

Q|0 |O|Q|0|0|0|0|8|0 D|@o|0|0|a|lo] O |C|o|O|le]|o

60 75
o O
60 | 75
58.5 74
75 95

O|O|C|IeO| 0|C|IC|e| 0| 0|8 o|lolo|o|o] O 00|00
[ A BE BN BN BN AN B BN NN BN NN BN BN BN BN NN NI BN BN AN BN BN )

preferred

09 10

N

95 130 145
e O O
- 0 e
935 130 145
130 145 190 260
e o

OO0 00|08 o0 O|0|0|C|lo] O 000|180
[ B BN AR AN BN BN BN BN BN NN BN BN BN BN BN REN BRN BN NN BN AN

— left blank

12

190
@]
®

193

DR

DRS|

DRG

DRL|
LR

LR3

R
LG
LG2

LE1

|LE2 |

260
o
[ ]

95 130 | 145 | 190 260 |
260 |

Z D12 NOO V P - K

14 15

KV

L

S2
S5
H1
Hs
H2
H6
U2



K1V(L)O AXIAL PISTON PUMP

K1V L O19DR/10R-N Z D12 NOO V P -

01 02 03 04 | 05 06107 [oslog 10 | 12 [13 14 15
CONTROL DEVICE 40 60 75 95 130 145 190 260
Pilot-pressure related  positive Ap=10bar  © © ©O @ O @ @ @ HD1
hydraulic control Bp=2sbar O O O ® O ® ® @ HD2
Electrical control with positive U= 12V o @ ® O e e e EM
05 prOportiOr‘lal solenoid U=24V | ®) @) ®) Y e Y ® ® | Ep2 -
| with pressure cut-off 0O 0 0O e O e e e D
hydraulic remote controlledcutoff O © O © O O @ @ G
_SERIES . )
_06_Stundc1rd | 10 i
DIRECTION OF ROTATION
- View on drive shaft clockwise _ R
counterclockwise L
~ SEALING _ .
_US_FIucroelastomer (FKM) as shaft seals; Nitrile rubber (NBR) for others. N
DRIVE SHAFT 40 60 75 95 130 145 190 260
[DIN 6885] parallel keyed shaft O O (@] ® O [ ] @ ® P
[DIN 5480] splined shaft O @] O L] O © ® ® Z
09 [ANSI B92.1a] splined shaft single pump O @] @] [ ] (@] [ ] ® ® S
. - - 3 L ] O 2 - - 5
combined pumps
O %) Q = — = @ & T
MOUNTING FLANGE 40 60 75 95 130 145 190 260
[SAE J744] flange 2-hole (@] @) . - — - — = c
10 4-hole |~ = O [ ] (@) [ ] @® ® D
[SAE J617] flange 12-hole = = = ® O ° ] = G
WORKING PORT 40 60 75 95 130 145 190 260

[SAE] pressure and suction ports at opposite sides; -
11|[DIN 13] metric fastening thread; [DIN 3852] metric | O @] @] ® (@] [ ] ® e 12
[fastening thread with profile sealing ring.

THROUGH-DRIVE 40 60 75 95 130 145 190 260

Single pump without through-drive O O (@) ® (@] [ ] @ ® NOO

P pump’s flange 2™ pump's splined shaft

l[ISD 3019-11 82-2 [SAE A] %"-9T-16/32DP O O O ® O @ @ ® KO

12 [SAE A-B] %:"-11T-16/32DP @] O O ® O [ O o K52

.[ISO 3019-11 101-2 [SAE B] 74"-13T-16/32DP O @} O ® O e ® ° K02
[SAE B-B] 1"-15T-16/32DP @] O O ® O [ e ° K04
W35X2X16X% O O O ® O L ® ® KJ9

.NOTE: @® qgvailable © upon request - unavailable - preferred — left blank .

002



ﬁ KEDA
HYDRAULIC

K17V L O190DR/10 R-N Z D 12 NOO V P - K

01 02 03 04 05 06 07 08 09 10 11 12 13 | 14 15
THROUGH-DRIVE 40 60 75 95 130 145 190 260
2™ pump's flange 2" pump’s splined shaft
[1SO 3019-11127-2 [SAE C] 1%"-14T-12/24DP - 0 O e O e e e K07
[SAEC-C] %"-17T-12/24DPF | - - - @ O e e @ K4
W30X2X14X9g - 0 O e O e e e K80
W3EX2X16X9g - 0 O e O e e e Ké
IS0 3019-11 152-4 [SAE C] 1%"-14T-12/24DP - - 0 e O e e e K86
12 [SAE D] 1%"-13T-8/16DP - - - - 0 e e e K7
W40X2X18X9g - - 0 e O e e e K8l
W45X2X21X9g - - - e 0O e e e K8
W50X2X24X9g - - - - 0 e e e K83
[ISO 3019-11 165-4 [SAE D] 1%"-13T-8/16DP [ = = = = = e o |KZ
W50X2X24X9g |- - - - - - @ ® |Ks4
W60X2X28X9g | = RN = = = @& |5
SWIVEL ANGLE SENSOR 40 60 75 95 130 145 190 260
Without swivel angle sensor O O O ® @) ® [ ®
13 With optical swivel angle sensor 0 - ®) ® O ® @ e V
.With electric swivel un.gle sensor . O = O @ O ® ® o . R
CONNECTOR FOR SOLENQID 40 60 75 95 130 145 190 260

- DEUTSCH = molded connector
2-pin, without suppressor diode |

VERSION
Standard version (without dash or code)
51 with combined pump or parts K
Special version S
with combined pump or parts sK
NOTE: @ available O upon request —unavailable preferred

003



KITV(L)O AXIAL PISTON PUMP

HYDRAULIC FLUIDS

K11VO pump is design for operation with [DIN 51524] HLP mineral oil. Selection of environmentally
acceptable hydraulic fluids or fire-resistant, water-containing hydraulic fluids HFD (HFA/HFB/HFC
excluded) is allowed but must be specified when ordering.

Please contact us if any technical parameter cannot be adhered to.

1. Viscosity and temperature of hydraulic fluids

Operation Temperature Viscosity Remarks

Cold start tmn=—25°C/-40 °C’ Vimax=1600 mm?/s t<3 min, p<50 bar, n<1000 rpm
Warm-up v=400~1600 mm?/s t=15 min, p<0.7 py, N<0.5 Ny
Continuous tma=+115°C/+85 °C” v=10~400 mm?/s atport T

Short-term tren=+115°C/+85 °C" Vrin=7~10 mm?/s t<3 min, p<0.3 px, at port T

NOTE: * NBR as shaft seals, please contact us.

2. Selection diagram

30 -20 -10 0 10 20 30 40 50 &0 70 80 90 100

1000 T N

RN SN
ESSESN

SO, N, - 640

SR AN N

\\\:\\\ SN

\.\‘\\\R N

- 320

\ =N

g
0 160
M EERANNNNG
= AN NNTANN AN N 80
: S
NN -

N N b Y 2
O SN SN

N TN 16
NORNINER
30 -20 -10 0 10 20 30 40 50 60 70 80 90 100
Temperature T [°C]

Before selection, figure out the relationship between ambient temperature and oil temperature in reservoir in an
open circuit. Make sure that any temperature in system must NOT exceed 115 °C.

The hydraulic fluid should be selected so that the operating viscosity in the operating temperature range is within the
optimum range vex=16~36 mm?fs (shaded area in selection diagram) and its viscosity grade should be as high as
possible. For example: whereat oil temperature in reservoir is 60 °C, both viscosity grades VG464 and VGé8 are within
the optimum range (2 spots in shaded area of selection diagram), in this case, VG68 is preferred.

3. Filtration of hydraulic fluids
Finer filtration improves the cleanliness level of the hydraulic fluid, which increases the service life of the axial piston

unit. An [ISO 4406] cleanliness level of at least 20/18/15 is to be maintained during continuous operation; In case of
high temperature (90~115 °C) during short-term operation, cleanliness level of 19/17/14 is required.

004



‘E KEDA
HYDRAULIC

INSTALLATION INSTRUCTIONS

GENERAL

— The axial piston unit must be filled with hydraulic fluid and vented during commissioning and operation. This must
also be observed during longer standstills, as the axial piston unit can empty itself via the hydraulic lines.

— Installation positions see the following examples 1~10. We recommend installation position 1and 2.

Installation position | 1 2 3 4 5 6 7 8 9 0 |
Filling | S+Ty S+T, S+T_1;"T2 S+TyT:  S+T, S+T,  S+TyT, automatic via all ports
Air bIEEd Ty R T]“Q R Li+ls R+L, Li+L, Ty R R

1) Below-reservoir installation, position 1~4 (standard)

—---—{}-—-- - =
| | T i |
|

L\ L,
RPY
i
&

L
R
L3t
Ty L,
[ o
S
N =0
| = | | = Hn.syn_ y i
i b '
| )
| e I
! N J
a

3) Inside-reservoir installation, position 8~10 (NOT for axial piston unit with electric components!)

| | I
I | I
I | I
I | I
| I I
I I I
[ l |
| 1 |
| [ |
L 1 1

® BN L
NOTICE _
Installation dimension ‘ Permissible suction height  Required immersion depth Distance to reservoir bottom |
| Height limit hs, me=800mm ht min=200mm Rrmn=100mm .

— Recommendation for installation position 7 (shaft upward): A check valve in the drain line (cracking pressure 0.5
bar) can prevent draining of the housing area. A height difference hgs, mn Of at least 25 mm at port R to prevent axial
piston unit from draining is required.

— For the reservoir design, ensure that there is an adequate distance a between the suction line and the drain line.
Using a baffle plate in between can improve the air separation ability as it gives the hydraulic fluid more time for
desorption, and prevent the heated returning flow from being drawn directly back into the suction line.

005



K11V(L)O AXIAL PISTON PUMP

TECHNICAL DATA

1. Working pressure range (when using hydraulic fluid based on mineral oils)

Pressure \ K11vO K1VLO Remarks |
Minimum pressure at suction port S
Suction ps, ass 0.8~30 bar 0.6~2 bar (inlet) is required to prevent damage,
to the axial piston unit.
Nominal py 350 bar 350 bar at working port A/B (outlet)
Maximum Prmax 400 bar 400 bar at working port A/B (outlet) _
Minimum pressure at working port|
Minimum Prin <18 bar <20 bar A/B (outlet) is required to prevent|
damage to the axial piston unit. .
Case pressures at drain ports T+/T,
to the reservoir is required.
2. Other technical data _
o R s 0 75 95 1300 WS 190() 260(L)
Parameter (in case) — | T |
Geom. displacement Gy, mo MLIr 42 58.5 74 935 130 145 193 260
I e N I - N
Qv Pmagal IPM 3500 3250 3000 2780 2500 2500 2500 2300 |
Flow Am | Qu,mox LImin 126 125 189 220 273(325) 319(363) 405(483) 468(598)
Flushing flow ? Qv fush LImin 2 3 3 4 4 4 5 6 |
Power 3’_ Qvmax |Pmax kW 74 92 10 128  159(190) 186(211) 236(281) 275(549)_
Torque ¥ Qymor | Tmax  NM 234 326 412 521 724 808 1075 1448
Drive shaft P ®32 ®35 D40 P45 @50 ®50 $55 @60
Z W35 W35 W40 W45 W50 W50 W50 W60
S 1" 1% 19" 1%" 1%" 19" 1%" 1%"
T | {3/ 1%" 1%" = = - 2! 20"
Input torque® P _Tz,nm Nm 468 648 824 1044 1448 1448 2226 2787
Z [Te,mex NM 912 912 1460 2190 5140 3140 3140 5780
g Te.mox NM 314 602 602 1640 1640 1640 1640 1640
T Temox NM 602 970 970 = = = 2670 4070
Through-drive torque® To, max Nm 314 521 660 822 1m0 1m0 1760 2065
Rotary P c kNmfrad 87467 107888 143104 196435 312403 312403 383292 653835
stiffnessof 7 ¢ iNmfrad 88894 102440 145836 199601 302495 302495 346190 686465
diveshaft o ¢ \Nmod 58347 86308 101921 175704 236861 236861 259773 352009 |
7 c kNm/rad 74476 102440 125603 = = = 301928 567115 |
R T |, g | oe omez oovs omrs S8 03 ofssoumr
Angular' a  rad/s? | 22000 17500 15000 13000 10500 9000 6800 4800
acceleration _
Case volume v L 11 1.35 1.85 2.1 29 29 3.8 46 |
Weight ¢ m kg 32 40 45 53 66(72)  76(73) 95(104) 125(138)

NOTE: — unavailable; (L) with charge pump. 1) Apply for ps w=Tbar (K1TVO) or 0.8bar (K1TVLO). 2) If K1IVO (K1TVLQ excluded) with
control device EP/HD or with stroke limiter H1/H5/H2/H&/U1/U2 is operated for over 10min with zero flow or under working pressure
<15bar, case flushing via connections T+/T,/R is required. 3) Apx=350bar and efficiency not considered. 4) Free of radial force. 5) Note
maximum input torque for shaft S! 6) Valid for single pump. The load capacity of the connection parts must be considered.

006



‘% KEDA
HYDRAULIC

e Size |
—— 40 60
 Parameter |
Center’:o{f gravity X m 0 10
2y mm 20 15
Z mm 122 140
Axial force
Fax
= 25 Fax,mox N 1500 2200
Radial force (ot afb/ca mm | 175 17.5
from shaft collar) Fomx N | 3600 5000
Fq b mm | 30 30
Fama N 2891 4046
5 c mm _ 425 425
a/b/cT Fopmex N 2416 3398

3. Determination of characteristics

75

10

10

130

2750

20
6300
55
4950
50
4077

95

10

10

142

3500

20
8000
35
6334
50
5242

130

10

10

170

4800

225
11000
40
8594
57.5
7051

145
10
10

170

4800

225
11000
40
8594
575
7051

190

10

10

170

6000

26
16925
46
13225
66
10850

260

10

185

4150

29 |
22000 |
50 |
16809 |
71
13600 |

Operation above the maximum values or below the minimum values may result in loss of function, reduced service
life or destruction of the axial piston unit. Check out all the permissible values by means of following calculation, etc.

Parameter _ | Formula
Geometric displacement per revolution gy
Differential pressure Ap = p-psabs
Rotational speed n
Volumetric efficiency nv = Qv
Qv theor
'Hydfaulic-mechanicui efficiency Mimh
Total efficiency e = QuXp = NyXnNmn
_ 600 * Pay, max
Flow Qv = guxnxny
1000
Torgue T = qguxAip
20 1 X Ny
Power P = 2nxTxn = QuxAp
60000

U2 CHARGE PUMP

The charge pump (impeller) is a centrifugal pump with
which the K11VLO130~260 is filled and therefore can be
operated at higher rotation speed. This also simplifies

cold starting at low temperature and high viscosity of

hydraulic fluid. Therefore, increasing the inlet pressure
externally is unnecessary in most cases. Charging the
reservoir with compressed air is at 2 bar permissible.

007

[mL/r]
[bar]
[rpm]
[%]

%]
1%]

[L/min]

INm]

[kw]

Unit




K11V(L)O AXIAL PISTON PUMP

&
1))

Nt

N

> OPERATING MODE

@

K11VO pump is designed to be used in open circuits. If pumps for close circuits are required, choose
K4VG or K4VSG instead. Please contact us for special version or any supplementary information.

04 SIZE & DIMENSIONS

Following figures 1~6 are about K11VO pumps' dimensions of all sizes, classified by their control
devices. Other variants of control device are shown in gray or dash outlines, referred to notes.

Pumps with direction of rotation R are demonstrated as examples. In case of a counterclockwise
rotated pump L, the control device (shaded) and relevant parts should be in their horizontally
symmetric place. In addition, the port plate rotates 180°.

Missing dimensions in figure 2~6 referred to figure 1. Other exceptions refer to notes.

Fig. 1. Dimensions, LE1S/LE2S/LE2S2/LE1S5/LE2S5 (above: LHSV/RHSV; below: FV/PLAN)

X Cn

CalCasL)

A (A
D'
Dx _
Dss |
D 5 S5 LE1/2 X S
fi X [
= =
o*a ;lr?:
2 ¢ &
e N !
(Y 1 l
—_
2 oD of Ih~
. v M -

008



'E KEDA
HYDRAULIC

c:ontroi""""~?~l-ie‘ KIVO40  KIIVO60 KMVO75  KIIVO95 KIIVO130 K1IVO145 KIIVO190  K11V0260
A | 225 242 260 287 310 310 346.8 3721
A - - - - 358 358 395 428
Cs | 183 198 215 234 255 255 2813 307
Cu | - - - . 287 287 319 346
Ca | 183 198 215 234 255 255 2813 307
Cw | - - - - 244 244 272 329.5
Cn | 123 136 148 155 174 174 1905 214
lE1s | 39 46 50 50 58 58 66 72
E 97 12.7 12.7 12.7 127 12.7 159 159
eSS F 15 19 19 20 21 2 27 30
H | 103 m 17 125 135 135 163.2 176.2
v | s 150 156.5 169.5 1785 1785 192 2035
D | 255 39 54 62.5 835 835 156.5 183
Dx | 1245 138.5 233 254 254 3215 348
D' | 248 2615 276 293 516 316 383 409.5
w | 75 82 88.5 777 104 104 16 130
W, | 10 12 1135 121 124 124 133 17
Drain Ty/T, :M22X1.5X14 M22X1.5X14  M22X1.5X14 M26X1.5X16 M26X1.5X16 M26X1.5X16  M33X2X18  M33X2X16

Air bleed R .M22X1.5X14 M22X1.5X14  M22X1.5X14 M26X1.5X16 M26X1.5X16 M26X1.5X16 M33X2X18  M33X2X16
Measure M.'"M1.M12)(1.5X12 MI2X1.5X12  MI12X1.5X12  MIZX1.5X12  MI2X1.5X12  MI12X1.5X12  MI2X1.5X12  M12X1.5X12

Pilot X MI4X15X12  MI4X1.5X12 MI4X1.5X12 MI4X1.5X12 MI4X15X12 MI4X1.5K12  MI4X15X12  M14X1.5X12

Pilot Y | MI4X15X12  MI4X15X12  MI4X15X12  MI4X1.5X12  MI4X15X12  MI4X1.5X12  MI4X15X12  MI4X1.5X12 |
Pilot Z | MI4X15X12  MI4X15X12  MIAX15X12  MI4X15X12  MI4X15X12  MI4X1.5X12  MI4X156X12  M14X1.5X12 |
Control G | MI4X1.5X12  MI4X1.5X12  MI4X15X12 MI4X1.5X12 MU4X15X12 MI4X15X12 MI4X1.5X12  M14X1.5X12 |

NOTE: — unavailable; & pending; L charge pump; Without S2 or S5 port; Port S for size 40/60/75 located in S5,
1) One-side width W usually equals the other, but here width of the other side W=96.

Comm-l»-.f'ze KIVO40  KIVOAD  KITVO75  KIVO95  K1VO130  KIVO145  K1IVO190 K11V0260
A - - - 287 310 310 346.8 3721
A - - - - 358 358 395 428
oA - - - 234 255 255 2813 307
Ca | - - - - 287 287 319 346
Co | - = = 234 255 255 2813 307
G, - - - - 244 244 272 329.5
Cn - - = 155 174 174 190.5 214
LE2$2 Hn = = = 50 58 58 66 72
E - - = 12.7 12.7 12.7 15.9 15.9
S e — - - 20 21 21 27 30
LE2SS | - - - 125 135 135 163.2 176.2
v - = = 169.5 178.5 178.5 192 203.5
D - - - 62.5 835 835 156.5 183
Ds | - - - 110 131 131 1985 2305
Dx | - - = 233 254 254 3215 348
D - - - 293 316 316 383 409.5
w - - - il 104 104 16 130
Wy - - - 121 124 124 133 137

NOTE: - unavailable; & pending; L charge pump; Gray outline = LE2S2; Dash outline = LE1S5/LE2S5.
1) One-side width W usually equals the other, but here width of the other side W=96.

009



K1V(L)O AXIAL PISTON PUMP

Fig. 2. Dimensions, DRS/DRG/LR3DS/LRDCS (above: RHSV; below: PLAN)

- Size 40~145
1;
7
Dy |
) Zv7# LR+ X | S/C | D(R) C*/LR3** D(R) S/C ¥ 0t LR*/LR3*
] /_/_,_r
\ e B, .
;.” \. ﬁ PY = =
P I !
o) =8| |
o i
: 3 Size 40~145
L 5
= - |
Con&;-[-x__f'ze' KIVO40  K1IVO60  K11VO75  KIIVO95 KIIVO130 KI1VO145 KIIVO190  K11VO260
| v | 134 138.5 1425 157 166 166 178 1895 |
prs | D 52 66.5 80 91 12 12 223 A
o | D m 125.5 138.5 150 171 171 319 3455
E o 209 2235 238.5 255 276 276 379 4085
Wy 110 112 13.5 15 118 18 131 137

NOTE: & pending; Without any * marked ports; Only with ports D(R), S/G and X.

Control

i
I
;
LR3DS |

SiZ€ \1v040  KIVOSO  KIIVOTS
V. 140 148 1545
D 52 655 80

Dy 1 124.5 138.5
Dz 228 241 25565
D' | 290 312 326.5
Wy 110 112 135
W, 21 23 N8

K11V095

166
9
150
2715
342.5
115
26

175.5
112
17
293
364
118
28

175.5
12
il
293
364
118
28

178
207
319
207
379
131

34

NOTE: Dash outline and ** marked ports for LR3DS; Port D(R) = D; Port §/G = S; With port X and Z.

K1MVO130 K11VO145 KNVO190 K11V0260

189.5
235
3455
235
408.5
137
40

010



Y

KEDA
HYDRAULIC

Cc;n'c:al'-h'"fize{ KITVO40  K11VO60 KIIVO75  K11VO95 K11VO130 KI1VO145 K11VO190 K11V0260
‘ V| 6 154 160 172.5 181.5 181.5 196 205.5
Vx | 100 108 17 129 148 148 156 137
| D | 283 75 56 48 69 69 139.8 166.5
 Dx | M 124.5 138.5 150 7 171 318.8 346
LR D: | 74 88 105 13 134 134 203.5 A
D' | 248 2615 276 292 313 313 379 408.5
Wx | 110 12 113.5 15 18 18 131 137
W, 21 23 24.5 26 29 29 34 34

NOTE: & pending; Gray outline and * marked ports for LRDCS; Port D(R) = D; Port S/G = S; With port X and Z.

Fig. 3. Dimensions, DRL (above: RHSV; below: PLAN)

f/ =
AL
L[>
o
O 9
[d:'—_—

Cor;;(;(;l‘w..%_%SIze KIMvo40 KNvoeo K1IVO75  K1vOo95  K1MVO130 K1MvO145  K1IVO190 K11vV0260

I Vv . 135 137 144.5 153 162 162 178 189.5
D | =5 10.5 255 36.5 575 575 79.5 106

DRL Dx | 74 875 102.5 13.5 134.5 134.5 161.5 188
D | oams 22 20 255 276 276 355 34
W' 81 83 89.5 7 105 105 18.5 132.5
Wx | 75 76.5 78 79.5 825 82.5 89.5 955

on



Fig. 4. Dimensions, LG1E/LG1EH/LG2EH (above: RHSV; below: PLAN)

K11V(L)O AXIAL PISTON PUMP

LG1EH before "/" and of LG2EH after "/".

Oz
= Y 17
N N
_ P i
! ) !
Size 40~145
L. )r: ~
o't
D
Oy
D f H L E L
[ ‘ol
=] / / [
. j / / / |
| ]|/ / g
; BTl @ -
(—— 1
% — e \ E
- | % & o \< *
Dy ** . Size 40~145
ControISIze K1IVO40 KNMVO&60 KI1MVO75  KNVO95  K11VO130 K1IVO145  K1VO190  KITVO2460
Vv _ 131 136 142.5 157 166 = .
Vy | 1075 14 120.5 132.5 ¥ - -
D | 35 48 62 73 94 94 = =
LGIE D: | 705 83.5 975 108.5 129.5 129.5 = .
D' | 248 2615 276 292 313 - -
w! 15 17 118.5 120 123 = =
Wy | 56 58 59.5 63 = =
Wz | 21 23 24.5 26 28 = =
NOTE: — unavailable; & pending.
Controxl?ze_l K1MVO40  K1IVO60D  K1IIVO75  K11VO95 KIIVOI30 K1vOoi4s K1IIVO190 KI11V0260
V[ = = = - 2275 239246 |
Vy | = = = i 176 187.5
Vz, - - - - 200.5/A 212
D = = = = 109 135.5
Dy = = = - 148 1745 |
LGIEH p, = - @ 3 242/365 268.5/3916 |
LG2EH Dz = - - - A[399 s
D’ = = = = 392/4425 419.6/469.2
w' = = = = 18.5 132.5
Wy = = - A= 34 40
Wz | = = = = 44/ A 50/
sz o 2 o = ()9 75

NOIT-E:.— -unuvoilclble; 4 pending; * marked ports for LG1EH; Gray outline and ** marked ports for LG?EH; Dimensidns of -

012



&

KEDA

HYDRAULIC

Fig. 5. Dimensions, LRDH1/LRDH5/LRDH2/LRDH6/LRDUT/LRDU2 (above: RHSV; below: PLAN)

i

Control

LRDH1
ILRDH5
LRDH2
LRDHé6

_?'ZGJ K1VO40  K1IVO60  KIIVO75 K1IVO95 KIIVOI30 K11VO145 KIIVO190  K11V0260
% 153 161 167.5 180 189 189 2275 239
Vy 131 139 145.5 155 164 164 176 187.5
Ve 106 1105 109 115 115 115 1425 153
D | 55215  17/35 3149 Al585  A[795  al195 91109 1161355 |
Dy 58 735 87.5 97.5 118.5 185 148 1745
De 206 225 239 262 283 283 3215 351
D' 248 2615 276 292 313 313 379 408.5
w 78 83 89.5 97 105 105 118.5 1325
Wy 21 23 245 26 28 28 34 40

D
o D
- _ ¥ Hi/ue:c E L
o ~ ra'— /. /
i / /M
) 1 -
| ’e |
t[{; — @
A = | {
i =K,
j’l}

i

Size 40~145

H#[L.n

Size 40~145

LR
~

before "/" and of LRDH2/LRDHé6 after "/".

LRDU1
ILRDU2

Size

V 153
Ve 106
D 29
Do 206
D' 248
W' 78

161
110.5
2.5
225
2615
83

167.5
109
15
239
276
89.5

180
115
32
262
292
97

NOTE: & pending; Black outline and * marked ports for LRDH; Port H/U = H1/H5/H2/Hé; Dimensions of LRDH1/LRDH5

189
115
48
283
313
105

189
115
48

283
313
105

2275
1425
77.5
3215
379
118.5

K11V040 K11VO60  K1MVO75  K11VO95 K1VO130 K11VO145 KI1VO190 K11VO260

239
153
104.5
351
408.5
1325

NOTE: Gray outline and ** marked ports for LRDU; Port H/U = U1/U2; Without port Y. Dash outline for partial deviation for
size 40.

013



KTIV(L)O AXIAL PISTON PUMP

Fig. 6. Dimensions, HD1D/HD2D/EP1D/EP2D (above: RHSV; below: PLAN)

Vy

Y

LAk

Wi

@

Size 40~145

Wk

Ve
2@

Wy

Size/
Control
Vv
Vy
Ve

HOD | P

20 2
HD2D

Dl‘
Wl
Wy

134
FAN
106
23
62
206
208
78
21

De

Dy
D Y HD1/2* D
[ VAL If
)./ '
/ i
L | &
<> b
+ Q
[ — \
) L
\ M [e

139
AN
110.5
38
755
225
225
83
23

145.5
Fay
109
50.5
89.5
2355
239
89.5
245

155
Fa%
115
62
101
252
262
97
26

y D HD1/2%

=X {rpa 7o
.fl/_"f !,'_P :;.-"zn

=

(only 40)— &2

|
L

Size 40~145

164 164 183
A A 178
15 115 142.5
9% 9% 109
125 125 148
273 273 3215
283 283 379
105 105 118.5
28 28 34

NOTE: & pending; Black outline and * marked ports for HD; Port HD/EP = HD1/HD2.

—_ Size|
Control J
\
Ve
EP1D D
EP2D D¢

D'
W

for size 40.

150.5
106
33
206
208
78

158.5
110.5
55
2215
225
83

165
109
20.5
2355
239
895

174.9
114.8

315
252
262
97

184 184 187.5
115 115 142.5
52.5 525 771.5
273 273 321.5
283 283 379
105 105 118.5

K11vO040 K11VO60 KI1IVO75 K11VO95 K11VO130 K11VO145 K11VO190 K11VO260

194
187.5
1525
135.5
1745

351
4085
1325

40

K1Mvo40 KNVO60 KI1MVO75  K1IVO95 K11VO130 K11VO145 K11VO190 K11VO260

199
152.5
104.5

351
408.5
152.5

NOTE: Gray outline and ** marked ports for EP; Port HD/EP = EP1/EP2; Without port Y. Dash outline for partial deviation

014



KEDA
HYDRAULIC

i

C"&//\ DRIVE SHAFT (left: P shaft; right: Z/S/T shaft)
i Flange bt Flange
Hz H3
Hz
: )
m— <J2 5 K T {J 5 K
T Ti \ k)
T2 4 Tz 4
{ —~__ Size K11v040 K11V060 K11V075
:Dimensiaﬁ"“~--1f P shaft | Z shaft i Sshaft | Tshaft | P shaft | Zshaft = S shaft | Tshaft | P shaft | Z shaft |
H, - 32 20 40 - 32 40 40 - 37
Hs 58 40 38 48 58 40 48 48 82 45
Ha 66 50 46 56 66 50 56 56 90 55
Js ®©32 A A i D5 A A A @40 A
Js ®40 ®40 40 ®40 ®45 ®45 ®45 ®45 ®45 ®45
K ®80.5 ©805 ©80.5 805 @91 @91 91 ®91 96 P96
T, 75 95 7.5 9.5 9.5 9.5 95 95 12 12
T 22 28 22 28 28 28 28 28 36 36
Parallel key ASI0X8X56 - - - ASIOX8X56 - - - ASI2X8X80 -
' Spline X%9g ' = W3EX2X16 1"-15T-16/32 14"-14T-12/24 = W3EX2X16 14"14T-12/24 194"-21T-16/32 = W40X2X18
Center bore .M12X1,75 MI12X1.75 %-16UNC-2B %-14UNC-2B8 M12X1.75 MI2X1.75 7B14UNC-2B 7I614UNC-2B M16X2 M16X2 .
T Size  KIIVO75 | K11V095 1 K11V0130 | K1VO145
LJimensiéﬁ""-:—_% Sshaft | Tshaft = Pshaft | Zshaft = Sshaft | Pshaft | Zshoft | Sshaft | Pshaft = Zshaft
H, 40 40 - 42 55 - 44 55 - 44
Hs 48 48 82 50 67 82 55 67 82 55
Ha 56 56 90 60 75 90 65 75 90 65
J; A A D45 A A ®50 A A ®50 A
Js 45 P45 55 P55 ®55 60 60 60 60 P60
K ®96 96 @101 ®101 ®101 ®107 @107 @107 @107  ®107
T, 9.5 9.5 12 12 12 12 12 12 12 12
T, 28 28 36 36 36 36 36 36 36 36
Parallel key = - - ASI4X9X80 - - ASIX9X80 - - ASI4X9X80 -
' Spline X?g' TA14T12/24 TA"2TFI6/32 = WA4EX2X21 1%4"13T-8/16 =~ W50X2X24 1%"13T-8/16 = W50X2X24
l Center bore .?‘514UNCA2B?‘514UNC-28 MI16X2 MI16X2  %TIUNC-2B8 M16X2 MI16X2 % 1UNC-2B M16X2 M16X2 l
~—_ Size K11VO145 K1VO190 K11V0260
Dimension | Sshaft | Pshaft | Zshoft | Sshaft = Tshaft | Pshaft | Zshaft | Sshaft | Tshaft
H 55 - 44 55 66 - 47 55 66
H; 67 105 55 67 80 105 58 67 80
Hs 75 13 65 75 88 13 66 75 88
J2 Fa ®55 A N A P60 A A Py
Js 60 60 60 60 ®60 ®70 ®70 70 ®70
K ®107 126 ®126 126 126 131 ®131 131 0131
T, 12 15 12 12 12 15 15 12 15
T, 36 42 36 36 36 42 42 36 42
Parallelkey = -  ASI6XIOXI00 - - - ASISXTIXI00 - - -
Spline X9g | 1%"-131-8/16 = W50X2X24 1%°-13T-8/16 2"-15T-8/16 = W60X2X28 1%4'-13T-8/16 2%"17T-8/16
Center bore . %-1UNC-2B - M20X2.5 M16X2 #%-1IUNC-2B  %-1TUNC-2B M20X2.5 M20X2.5  %-TIUNC-2B ’/.-‘ICIUNCQB.

.NDTE: - unavailable; & pending.

015



K1V(L)O AXIAL PISTON PUMP

10 MOUNTING FLANGE

C flange D flange G flange’
AlA)
BN Size 0 /\ ; o Sizel30/145 L -t
e & ;
' |28, ;’
o4 HEEE |
i > 8 o kA I
\ P R 3
\ F b 19
= Size K11V040 K11VO60 K1IVO75 K1V095 ~ K11VO130/145 K11vV0190 K11V0260
EDimensidﬁ"“-w; _Cflange | Cflange | D flange | D flange | Gflange D flange G flange D flange l.Gfluﬂe D flange |
B | 45° 0° - - - - - o o -
N | @101.6 127 ®152.4  ©152.4 130 ®152.4 @130 ®165.1 @155 @165.1
No Fa A A A »101 Fa @106 A ®126 a |
P 177 213 0200 D200 @451 0204 ®451  [12625 @451 (2625 |
Q 120 A - - - - - - - - |
R 146 181 01616 01616 @428.62 1616 42862 [12245 042862 [12245
r 14 @17 21 ®21 on 21 11 D21 @11 21
A 225 242 260 287 287 310 305 346.8 3.8 3721
_ A I = = = = 358 353 395 390 428 |
SAE J744 flange 101-2(B) 127-2(C) 152-4(D) 152-4(D) = 152-4(D) - 165-4(E) = 165-4(E) |

NOTE: —unavailable; & pending; * for SAE J&17 G flange mounting to flywheel case of internal combustion engine; ** r
without @ note for slots.

11T WORKING PORT :

. Size

Dimension —

a
b
c
d

SAE J518 port

- Size
Dimension

<&
L |
elal=
K11v040 K11V060 K11VO75 . K11V095 . K11VO0130/145
Suction | Working = Suction | Working | Suction | Working = Suction = Working | Suction | Working |
429 238 429 23.8 50.8 27.8 61.9 27.8 61.9 278
77.8 50.8 778 50.8 88.9 572 106.5 57.2 106.5 57.2
®50 19 ®50 @19 D63 »25 75 25 75 @25
IT2X1.75%20 MIOXT.5X17 M12X1.75X20 MIOX1.5X17 M12X1.75X17 M12X1.75X17 MI6X2X24 MI2X1.75X17 MI6X2X24 MI2X1.75X17|
R SR N A N R R
| K1VLO130/145 K11v0190 K11VLO190 K11v0260 ‘ K11VLO260
Suction |Wnrking Suction |Working Suction IWorking Suction = Working | Suction |Working__

a
b
c
d

SAE J518 port

61.9 31.8 69.9 365 699 36.5 69.9 365 77.8 365
106.5 66.7 120.7 79.4 1207 79.4 120.7 79.4 130.2 794

®75 ®32 ®90 ®38 ®90 38 ®90 38 ®100 ®38
MI16X2X24 MI14X2X19 MI6X2K24 MT6X2X2T1 MI16X2X24 MI6X2X21T MI6X2X24 MI6X2X2T MI16X2K2T M16X2X21
3" 1%" 30" 11" 3% 1%" 3 %" 19" 4" 1% |

016



‘s KEDA
HYDRAULIC

U5 CONTROL DEVICE

K11VO pumps can be equipped with various control devices, for instance, pressure control DR, power
control LR, pilot-pressure related hydraulic control HD, electrical control with proportional solenoids
EP and so forth. Please specify the controller setting range in plain text when ordering.

1-1. DR - Pressure control

The pressure controller limits the maximum pressure at ¥ Circuit diagram DR
the pump outlet within the control range of the variable
pump. The variable pump only supplies as much hydraulic
fluid as required by the consumers. If working pressure
exceeds the pressure command value at the pressure
valve, the pump will regulate to a smaller displacement to
reduce the control differential. Size 190~260 |
— Basic position in depressurized state: Gy, mex, -
— Setting range for pressure control: 50~350 bar. R

¥ Characteristic curve DR i

Size 40-145 |

— 350 - i ‘
W
_‘l::_,; 30 ! ' QV.mox ~e—e= Y, min |
=i I |
2 I |
w 200! i '
o
& |
= 150 ‘
2
=
100 i
¥ ‘
50 ¢ |
o 4

Flow Qv [Limin]

1-2. DRS - Pressure control with load sensing
The flow of the pump is dependent on the cross section of ¥ Circuit diagram DRS

the external metering orifice, which is separately located o
between the pump and the consumer. S diHh —‘
Load sensing controller compares the pressure upstream i ;kfj:mh( A
the metering orifice to the one downstream the orifice L 5 e o
and keeps the pressure drop Ap and the flow constant.

ﬁprneterlng arifice = Ppump T Pronsumer
— Setting range for Ap: 14~25 bar (standard 18 bar).

¥ Characteristic curve DRS
4— T

3% —

300
250 -

200 T

150 4

e .

Working pressure p [bor]
}
H

100

Flow Qv [Limin] . T1 T2 h S

017



K1V(L)O AXIAL PISTON PUMP

1-3. DRG - Hydraulically remote pressure control ¥ Circuit diagram DRG
The setting can be overridden by a separate pressure '
relief valve to set to lower value. A separately configured
2/2 directional valve can be operated to start the pump at
standby pressure. Both functions can be used individually
or in combination.

— Setting range for Ap: 14~25 bar (standard 22 bar). Size 190~260 T_—
¥ Characteristic curve DRG i =
- B o AL
350 ———
= 200
2 " S
o 250
&
g 150
E M s
—— 50

0

Flow Gv [L/min]

1-4. DRL - Pressure control for parallel operation
Suitable for pressure control of several pumps in parallel ¥ Circuit diagram DRL
operation pumping intc a common pressure line. With the szea0-145 — — —— T —-—-
externally installed pressure relief valve the nominal ‘ = — T
pressure command value of all pumps is adjusted to the '

same value. Each pump can be individually unloaded from L Lo
the system by a separately installed 3/2 directional valve.
The check valves in the working line (A/B) or control line %ize 190 M"‘
(connection X) must be generally provided. =260 Mﬁ;r

¥ Characteristic curve DRL
400 ——

550

300 -

250 -

150

Working pressure p [bar]

100 -

Flow Qv [Lfmin]

2-1. LR - Power control
The displacement of pump is regulated depending on the
working pressure thus given drive power is not exceeded
at constant drive speed.

Working pressure p x Displacement g, = constant
The hydraulic output power is influenced by the efficiency
of the pump. With a hyperbolic characteristic curve, the
precise control provides optimum utilization of available
power. When ordering, please specify:

— Drive power P [kWI;
— Drive speed n [rpm]; i - y p 0
— Maximum flow Qu, mex [L/min]. » Characteristic curve LR ' Fiow Qu fLimin} " '

Working pressure p [bar]

018



KEDA
HYDRAULIC

i

¥ Circuit diagram LR

Size 40-145 - - N TeEE

I A

¥ Circuit diagram LR3 high-pressure-dependent override

Size 40-145

R

The working pressure acts on a rocker via a measuring
spool. An externally adjustable spring force counteracts
this. If working pressure exceeds the set spring force, the
control valve will be actuated and the pump will swivel
back from the depressurized basic position Vg mex toward
Vglm&n.

¥ Circuit diagram LR.C override with cross sensing

Size 40~145 ’7-———5—___7___? pHD_
- Z;———-_'__:_-
Size 190-260 [ : - T
" | ]\f( M AB

L_l;______H

Cross sensing is a high-pressure dependent total capacity
control that connects two equally sized KITVO pumps
with LR.C controllers in power control. If one pump is
operated below setting pressure, the unused power is
available for the other pump, A total power is distributed
between two consumers according to demand.

019

LR3 is a total power control where the working pressure
of a mounted fixed pump is applied to the power setting
(via port Z). The fixed pump has priority in the total
power setting. The power setting of the K11VO is reduced
proportionally to the load-dependent increase in working
pressure of the fixed pump.

¥ Circuit diagram LG pilot-pressure related override
Size 40~145 ‘— ’

x%%%\ﬁ

Size 190-260 ’7 e ‘——I v
== LG} |
I 1

R

An external pilot-pressure acts on the setting spring of
the power controller via port Z. The mechanically adjusted
basic power setting can be varied by means of different
pilot pressure settings.

— For LG1, higher pilot-pressure = reduced power;

— For LG2, higher pilot-pressure = increased power.



KITV(L)O AXIAL PISTON PUMP

¥ Circuit diagram LE electrically proportional override ¥ Circuit diugror‘n LRG (Details see DRG.)
Size 40~145 ’7 — Size 40~145

.

B Technical data of solenoid LE1 LE2
Voltage 12:24 V 24x48 V
A control current acts against the adjustment spring of Control corrent starts at 400 mA 200 mA
the power controller via a proportional solenoid. The ye 1200 mA 600 mA
mechanically adjusted power setting can be reduced by — ends a 2 L
means of different control current settings. Current limit 1.54 A 077A
— For LE1, increasing control current = increased power;  Nominal resistance at 20°C 550 2270
— For LE2, increasing control current = reduced power.  Dither frequency 100 Hz 100 Hz
Duty cycle 100 % 100 %

LRD - Power control with pressure cut-off
The pressure cut-off is a pressure control which adjusts w Circuit diagram LRD
the displacement of pump back to V, w» after reaching
pressure command value. This function overrides power
controller, the power control function is executed below
the pressure command value.

—The valve for pressure cut-off is integrated in controller
housing and is permanently set to a pressure command
value at the factory;

— Setting range for pressure control: 50~350 bar. _MAB
¥ Characteristic curve LRD L
400 : ‘
—4
—— 30 ' ‘
:-25' 200 i
Y 250 ,
g |
g 200
2 |
¥ 150 ‘
$
= I
100 - ‘
1 |
S

Flow Qv [L/min]

020



KEDA
HYDRAULIC

B

LRE — Power control with secondary pressure cut-off
An external pilot-pressure acts on the setting spring of
the power controller via port Y. The mechanically adjusted
basic cut-off setting can be raised by 50~70 bar to set to
a secondary pressure cut-off (usually higher than the set
pressure command value of the primary valve). The pilot-
pressure signal at port Y must be 20~50 bar.

¥ Characteristic curve LRE
d.( 0

— secondary pressure cut-off (+tolerance)

primary [ » command value

basic pressure cut-off setting

Working pressure p [bor]

Flow Qv [L/min]

LRDS - Power control with pressure cut-off/load sensing
In standard LS system, the pressure cut-off is integrated
in the pump controller. In an LUDV system, the pressure
cut-off is integrated in the LUDV valve block.

The load sensing controller is influenced by load-pressure
and adjusts the displacement of the pump as required,
depending on cross section of external metering orifice
between the pump and the consumer.

The flow is independent of load pressure below the
power curve and the setting of pressure cut-off, and
within the control range of the pump. The load sensing
controller compares the pressure before and after the
metering orifice and keeps the differential pressure Ap
across the orifice and the flow constant.

— Setting range for Ap: 14~25 bar (standard 18 bar).

¥ Characteristic curve LRDS
400

Working pressure o [bar)

Flaw Qv [L/min]

021

¥ Circuit diagram LRE

v Clrcwt diagram LRDS

Size 40
~145

Size 190
~260




KTIV(L)O AXIAL PISTON PUMP

LRS2 - With electrically overridden load sensing ¥ Circuit diagram LRS2
By connecting a control current on proportional solenoid, ;e 40-145 P et ot
the differential pressure Ap of load sensing control can be e = —‘

overridden proportionally.
— For LRS2, increasing current = lower Ap setting;

— For technical data of solenoid, see LE2.
¥ Characteristic curve LRS2
25 ;

i |

a = {

< S | |

g 15 et K | [ —

7 | T

a .

s 10l =

5 |

§ | '

5 9

o .

& |

04 ‘
200 300 400 500 600
Control current | [mA], U=24V
'|:1 TIQ L S

LRS5 - With hydraulically overridden load sensing ¥ Circuit diagram LRS5
By connecting an external pilot-pressure to port Z, the sie40-145 -——-—-—-—‘

differential pressure Ap of the load sensing control can be L= | 5,
overridden proportionally. N @1\9{ @EIW |
— For LRS5, increasing pilot-pressure = lower Ap setting. , e J

¥ Characteristic curve LRS5

riot included

Differential pressure Ap s [bar]

0 5 10 15 20
Pilot-pressure pz [bar)

Tt

T T2 Wh

2-2. LR.H. - With hydraulic stroke limiter ¥ Characteristic curve LR.H.
Due to the stroke limiter, the displacement is adjusted
across the entire control range proportionally to the pilot- =~
pressure ps: (<40 bar) applied at port Y. The stroke limiter .
is overridden by the power controller, i.e. below the power —
control characteristic curve, the displacement is adjusted
depending on the pilot-pressure. If the set flow or working
pressure exceeds, power control overrides and reduces
the displacement along the curve.

The required control power is taken from the working
pressure or the external control pressure of about 30 bar
applied to port G (at a low working pressure of <30 bar). If
no external control pressure is connected to G, the shuttle
valve must be removed or relieved to the reservoir. 0 Displacement in percentage V [%] 100

[ @

Pilot-pressure pg: [bar]




KEDA
HYDRAULIC

i

¥ Circuit diagram LRH1"/LRH5? negative control

e e o e e e
L
T

¥
Size 190~260 r -
|
R 9@1

'
|
i
i
'
L

Jo um
=1

_i;__h————l

'II'1 fz I S
With an increasing pilot-pressure, the pump swivels to a
smaller displacement. Basic position without pilot-signal is
) —

— Setting range for beginning of control: ps: 10ex=4~10bar;
— Setting range for end of control: ps. ox= 29~35 bar” or
14~20 bar?:

2-3. LR.U. - With electric stroke limiter

Due to the stroke limiter, the displacement is adjusted
across the entire control range by the control current
applied at the proportional solencid. The stroke limiter is
overridden by the power controller, i.e. below the power
control characteristic curve, the displacement is adjusted
depending on control current. If the set flow or working
pressure exceeds, power control overrides and reduces
the displacement along the curve.

The required control power is taken from the working
pressure or the external control pressure of about 30 bar
applied to port G when working pressure <30 bar. If no
external control pressure is connected to G, the shuttle
valve must be removed or relieved to the reservoir,

¥ Characteristic curve LR.U.

1400

1200
':E -
g 800 } // } |
o 600 ,/
3 = e
£ 400 o

200 ]

0
0 Displacement in percentage V [%] 100

023

¥ Circuit diagram LRH2*/LRH6? positive control

T T2
With an increasing pilot-pressure, the pump swivels to a
larger displacement. Basic position without pilot-signal at
working pressurefexternal control pressure >30bar, is Vg, mi.
— Setting range for beginning of control: ps: ox= 4~10 bar;
— Setting range for end of control: ps: wox= 29~35 bar® or
14~20 bar*;

¥ Circuit diagram LRU1¥/LRU2® positive control
Size 40-145 [ ——— e — - _l

With an increasing control current, the pump swivels to a
larger displacement. Basic position without pilot-signal at
waorking pressure/external control pressure >30bar, is Vg, mi.
— Setting range for beginning of control: 14

— Setting range for end of control: l1gax;



K1V(L)O AXIAL PISTON PUMP

3. HD - Pilot-pressure related hydraulic control
¥ Circuit diagram HD ¥ Circuit diagram HD.D with pressure cut-off

Size 40-145 ’7

The displacement of pump is adjusted proportionally and The pressure cut-off is a pressure control which adjusts
continuously with a pilot-pressure applied at port Y. Start the displacement of pump back to V, . after reaching
of adjustment without pilot-signal at working pressure or the set pressure command value. This function overrides
external control pressure >30bar, is Vg mn. With increasing hydraulic stroke control, i.e. the stroke control function is
pilot-pressure, the pump swivels to a larger displacement. executed below the pressure command value.
— Control pressure see LR.H.; — Valve for pressure cut-off see LRD;

— Characteristic curve see DR.

4. EP - Electrical control with proportional solenoid (only for operation with mineral oil & reservoir temperature <80°C!)
¥ Circuit diagram EP ¥ Circuit diagram EP.D with pressure cut-off

Size 40~145 r‘— s —-—-T‘
e v

Start of control without pilot-signal at working pressure or  The pressure cut-off overrides electric control, is executed
external control pressure = 30 bar, is Vg, mn. With increasing  below the pressure command value.
control current, pump swivels to a larger displacement. — Valve for pressure cut-off see LRD;

— Characteristic curve see DR.

024



'E KEDA
HYDRAULIC

COMBINATION PUMP

K11VO pump can be combined with K11VO/K10VO/K4VG/K4FO/gear pumps, etc. A tandem pump with
two pumps of equal size is permissible. Please specify the designations for the 1* and the 2™ pumps
and join by a “+" when ordering. Order example:

KIIVLO 190 LRDS /10R-NZD12K72P+K1NVLO 190 LRDS/10R-NSD 12NOO P
The first row of following table refers to the 1* pump (P). For informations about the through-drives
(TD), see part 12.

¥ Total length A, of an example pump combination K11VO+K11VO

O . - x [+ |0
& @\ =1 '@y ' o @
Bl OO )R (O ® O
& J g-'}f}‘:i\ e ¢ - _IVQ / .'.f; i GE G,
B b I~ - _Tg{;
Ao
i il

KIMvo  K1VLO

1301145  130/145 K11V0190 K11VLO190 K11V0260 K11VLO260

|
L 0 K11V060 K11VO75 KI11VO95

2P A Ao Ao Ao Ao Ao Ao Ao Ao
K11vV040 :g: 490 - 528 551 585 586.8 619 620 662.5
K07 |
KIvoso . 507 525 560 572 606 609.8 642 633.5 675.5
K86
K1MVO75 K81 = 550 577 600 634 652 684 677 719
K17
K11V095 s - - 604 627 661 679 m 704 746
K17 |
K1MVO130 K83 - - - 650 684 702 734 727 769
K17 |
KIVLO130 - - - 698 732 750 782 775 817
K7
K1MVO145 Ka% = e - 650 684 702 734 727 769
K7
K1VLO145 e - - = 698 732 750 782 775 817
| K72 |
K1MvO190 K84 = = — = = 723.6 755.8 746.8 789.3
| K72 |
K1vLo190 o - - - - - 7723 804.5 7955 838
| k72|
1 - = = = - - = 14,
K11V0260 K67 772 814.5
K72
K1MVLO260 K67 828 870.5

.NOTE: - unavailable.

025



K1V(L)O AXIAL PISTON PUMP

12 THROUGH-DRIVE

K11VO pump can be combined with K11VO/K10VO/K4VG/K4FO/gear pumps, etc. Hub for splined shaft,
mounting bolts, O-rings and mounting plates (when available) are in the scope of delivery.

The first rows of following tables refer to the 1** pumps, while the second rows after "+" refer to the
2" pumps and their drive shafts.

1. Available through-drives for K11'VO+K11VO

N1%P] K11V060 [ knvo7s | K11V095 1130
D + 405 40Z &60S 60Z | 60S 60Z 755 75Z  40S 40Z 60S 60Z 755 75Z 955 95Z  40S
kKtda |8 =~ = = = = = = B = = m o= o= om o= 6
K79 - o - - - - - - - 0o - - = = = - -

KE [ = = @ = B = = = = = B = = = = = =

Kt - - - o - o - - - - - o - - - - -

k86 - - - - - - 0o - - - - - 0 - - = -

K7 - - - - - - - - - - - - - - e - -

kKt [- - - - - - - © = - - - - o - = -

K82 e

=P K11v0130 _ K11V0145

D + 40Z 60S 60Z 755 75Z 955 95Z 130S 130Z | 40S 40Z 60S 60Z 755 75Z 955 95Z
K4 | - - - - - - - - - 0 - = = - = - -
K9 o - - - - - - - - - o - - - - - -
K07 - 0o - - - - - - - - - 0 = = = = =
kKt |- - o - - - - - - - - - ©o - - - -
K86 - - - 0o - - - - - - - - - 0o - - -
K7 - - - - - 0 - 0 - - = = - - - @ -
kK& - - - - O - - - - - - - - - 0o - -
k&2 | - - - - - - 0 - = = = = - - = - e
K88 | - - - - - - - - 0o - - - - - - - -

NP K11V0145 ; K11V0190
TD + 130S 130Z 1455 145Z | 405 40Z 60S 60Z 755 75Z 955 95Z 130S 130Z 1455 145Z 190S

ko4 - - - - 0 - - - = - = = = = = = -
K79 N T T
ket | = & = = = = &= = ® = = =5 = & = & =
kK1 |~ = = = = = - @ = = = = = = = = =
kg [ = = = = = = = = B = = = = = = o= =
K7 o - e - - - - - - - e - 0o - e - -
K81 - - - - - - - - - 0 - = = = = = -
K82 - - - - - - - - - - - e - - - - -
K83 - o - e - - - - - - - - - 0o - e -
k2 |- - - - - - - - - - - - - - - - @
NOTE: @ available; © upon request; — unavailable.,

026



‘Fi KEDA
HYDRAULIC

NP 190 |

D "--+_‘19{JZ 40S 40Z 60S 60Z 755 75Z 955
K4 |- o - - - - - -
K9 |- - o - - - - -
ko7 |- - - © - - - -
Ké1 | = = = = O = = =
KBE: | = = = = = G =
KiZ |~ = = = = - "= @
K¢t | - - - - - - 0O -
) |~ - - S -3~ -
KBS | = = = AR NSNR— " « =
Kr: | = = =™ - = =
K4 |'® - - = - - - =
K6T | = = = = = = = =

NOTE: @ available; © upon request; - unavailable.

2. Available through-drives for K11VO+K10VO

K11v0260

95Z 1305 130Z 1455 145Z 190S 190Z 2605 2607 |

P K11v040 K11V060
TD .+ 185" 18U" 28S 28R 18S" 18U” 285 28R 45S
Km |- o - - - o - - -
Ksg |B =1~ "= B = = = =
R == ¥ = -~ B8 B =
K04 - - - - = = - = 0

|
- - - - 0
— — — O s

- O O — -
O - - - _

T K11VO75 ,

D .1:\_.45W2} 635% 63U 63W 718" 7'11_?‘J | 185" 18U" 285
ot | = = - = & = = g =
Ks2 | - - - - - - e - -
kG2 /o0 - - - - - - - ®
K04 - - 0 0 - - - = -
K7 |- o - - o o - - -

1P| K11VO95 |

TD + 855 85U 18S" 18U" 285 28R 455 45R 45U
Km - - - o - - - - -
K52 = = 1B Pt SA- -
K2 - - - - o o - - o
K4 - - - - - - 0o o -
Ko7 - e - - - - - - -
K24 ® - - - - - - - -

K11v075 |
45R 45U 45W? 18S" 18U" 285 28R 455 45R 45U

K11V095

28R 455 45R 45U 45W? 635¥ 63U 63W 715" 71R"

K11v0130

45W? 6357 63U 63W 71" 71R" 855 85U 100S"100U"

NP K11V0145/190/260
D w.+‘185“ 18U" 28S 28R 455 45R 45U 45W? 63S¥ 63U 63W 718" 71R”

K01 | = [ ] = = = = = =
K52 | ® = = &= = = - =
K02 | - - -] ® - - ] 9]
K04 = - = - [ ] - -
K07 [} = = = = — = = =
K24 | % - = = - - = -
K17 [ == - - - = = = -
NOTE: @ available; © upon request; - unavailable.

O =

= O

855 85U
= @
. =

1) Only for KIOVO/11 series; 2) Only for K10V0O/13 series; 3) Only for 2™ pump with 4-hole mounting flange.

027



KITV(L)O AXIAL PISTON PUMP

3. Available through-drives for K11VO+K4VG

NP K11v040 | K11V060 K11VO75
TD + 285 40Z 40A 40S 285 40Z 40A 40S 567 56A 565 285 40Z 40A 40S 56Z 56A 56S 71Z 715 |

K4 |0 - - - 0 - - = = = = 0 = = = & - -4
K? |- - - o - - - 0 - - 0 - - - 0 - - 0 - 0
K80 - o - - - 0 - - 0 - - - 0 - - 0 - - - -
Kl - - o - - - o - - 0o - - - 0o - - 0o - 0o -

N\1*P K11V095 K11VO130/145

TD + 28S 40Z 40A 40S 56Z 56A 565 71Z 71S 90A 90S 285 40Z 40A 40S 56Z 56A 565 71Z 71S
K4 ©O© - - - - - - - - - - 0 - - - - - - - -
Koz [- = = ® = - @ - ® = - - - = g = = 9 - 9|
k&0 |- © - - © - - - - - - - 9 - - O - - = -]
kK¢ |- - o - - o - 0 - - - - - 0o - - o - o -|
K7 |- - - - - - - - - - 0 - = = = - - - - -/
kB2 |- = = = = = = = = g - - = = = = = & = =

SR K11vV0130/145 | K11vO190

TD -+ 90A 90S 125Z 125A 1255 285 40Z 40A 405 56Z 56A 565 71Z 715 90A 90S 125Z 125A 1255
K04 - - - - - 0 - = = = = = - - - - - - -
ko7 |- - - - - - - - 0 - - 0 - 0 - ~- - - -
K80 - - - - - - 0 - - 0 - - - = = - - - -
kKt - - - - - - - o - - o - o - - - - - -
K7 |- o - - o - - - - - - - - - - 0o - - o0
K81 - - 0 - = = = = = = - - - - - - Qo - -
K82 | o - - o - - - - - - - - - - o - - o -

1P| K11VO190 K11V0260

TD + 180Z 180S 285 40Z 40A 40S 56Z 56A 565 71Z 71S 90A 90S 125Z 125A 125§ 180Z 180S 2505
K4 |- - o - - - - - - - - - - - - - - - -

k7 |- - - - - o - - 0 - 0 - - = = - - - -

K80 - - - 0 - - 0 - - - = = - = - - - - -

Kl - - - - 0o - - 0O - 0 - - - - - - - - -

K7 |- - - - - - - - - - - - 0 - - 0 - - -

kK |- - - - - - - - - - - - - 0 - - - - -

kK& |- - - - - - - - - - - o - - 0 - - - -

K2 - e - - - - - - - - - - - - - - - e O
K84 ® - - - - - - - - - = = - = - - @ ~- -~

NOTE: @ available; © upon request; — unavailable.

4. Available through-drives for K11'VO+K4FO

Noe| K11v040/60/75/130 K11V095/145/190/260
_TD | K4F016...5 K4F022...5 K4F028...S K4F016...S K4F022...S K4F028...5
K02 o) 0 0 ® ® °

NOTE: ® available; © upon request.

5. Available through-drives for K11VO+gear pump

N2 K11V040/60/75/130 | K11V095/145/190/260

1 > (F) 4~22 (N) 20~32 (G) 38~45 (F) 4~22 (N) 20~32 (G) 38~45
L e = = ° - -
K02 - o 0 - ° °

NOTE: ® available; O upon request; = unavailable.

028



g

KEDA
HYDRAULIC

¥ Dimensions of mounting plate/2™ pump's flange/hub for splined shaft/... of all sizes

6.

|

F | O-ing

|

—

@ | @
g I \\\
N\ )
\ / |
"
@ | g
—— i: Jl W
- Py .

Code K01 (2™ pump K10VO018U" or gear pump F series 4~22; 2™ pump's flange I1SO 3019-1 - 82-2)

P K11VO
!mmenéi‘aﬁ- KIIVO40 KTIVO60 KIIVO75 KIIVO95 1z0nnc
N, | ©825 825 825 825 825
A 240 257 275 306 329
A; 8 = = =z
R4 106.4 106.4 106.4 106.4 106.4
Py 130 120 130 130 130

r

K1MVLO
130/145

©82.5
363

106.4
130

K11V0190 K11VLO190K11V0260 K11\.~'L0260|

©825 825 825 825

359.8 394 385 4273

1064 1064 1064 1064
130 130 130 130

M10X1.5X15 MIOX1.5X15 M10X1.5X15 MIOX15X12. 5MI0X1.5X12.5MI0X1.5X12.5 M10X1.5X13 MIOX1.5X13 MI0X1.5X13 M10X1.5X13

| A A

A M

Vil

Pl

val

A A |

HubKO1 | %"-9T-16/32 %"-9T-146/32 %"-9T-16/32 %"-9T-16/32 %"-9T-16/32 %"-9T-16/32 %"-9T-16/32 %"-9T-16/32 %"-9T-16/32 %"";'T‘Téfsz_
K52 | %"1T-16/32 %"-NT-16/32 % -11T-16/32 %'-11T-16/32 %"-11T-16/32 %"-NT-16/32 %"-1T-16/32 %'-11T-16/32 %"-11T-16/32 % -1T-16/32
NOTE: - unavailable; & pending; 1) For K10VO/11 series.

Code K02 (2™ pump K10V028S/28R/45U/45W?, K4FO16S/22S/28S or gear pump N series 20~32 & G series
38~45; 2™ pump's flange ISO 3019-1-101-2)

T st
3 .

IDImensioﬁ'

N:
A
Az
Ry
B
r

Hub |

029

01016 01016
244 261
10 10
1064 1064
45° 45°

P K1vo4o K1vos0 K1VO75 K1vO95
1016
279

106.4
45°

K1VLO
130/145
01016
360
10

K11VO
130145
®101.6  @101.6
303 226
I
1064 1064 1064
45° 45°

45°

K11V0190 K1IVLO190K11VO0260 I(11VL0260|

®1016 1016 @016 1016
3718 404 395 4375

1064 1064 1064 1064
90° 90° 90° 90°

MI12X1.75X19 MI2X1.75X19 M12X1.75X19 M12X1,75X16 M12X1.75X16 M12X1.75X16 M12X1.75X15 M12X1.75X15 M12X1.75X15 M12X1.75X15

FAN PAS

A P

&

a

it

A & |

| 146"13T-16(32 %"13T-16/32 %"-13T-16/32 4"-13T-16/32 14"13T-16/32 %"13T-16/32 %"-13T-16/32 %"-13T-16/32 ¥%"-13T-16/32 14"-13T-14/32
NOTE: - unavailable; A pending; 2) For KI0VO/13 series.



K11V(L)O AXIAL PISTON PUMP

Code K04 (2™ pump K11V040S, K10VO45S/45R/63U%[63W?, K4VG28S; 2™ pump's flange ISO 3019-1 - 101-2)

= stp |

D;igfﬁ; K11V040 KIIVO60 K1VO75 KI1VO95 1';2,‘1’35 fg&}‘;‘ﬁj K11V0190 K1VLO190K11V0260 K11VL0260%
N, ©0l6 016 ©0l.6 0016 ©l0l6 @I0L6 06 @016 06  @1016
A 244 261 279 303 326 360 3698 404 395 4375
A |10 10 10 10 10 10 5 = = =
Re | 1064 1064 1064 1064 1064 1064 1064 1064 1064  106.4
8 45° 45° 45° 45° 45° 45° 90° 90° 90° 90°
r .M'l 2X1.75X19 MI12X1.75X19 M12X1.75X19 M12X1.75X16 M12X1.75X16 M12X1.75X16 M12X1. 75X15 M12X1.75X15 M12X1.75X15 M12X1.75X1 5
i | &4 A A A A A A A A A |

1"15T-16/32 1"-15T-16/32 1"-15T-16/32 1"-15T-14/32 1"-15T-16/32 1"-15T-16/32 1"-15T-16/32 1"-15T-16/32 1"-15T-16/32 1"-15T-16/32
NOTE: — unavailable; 2 pending; 2) For KIOVO/13 series.

Code K79 (2 pump K11V040Z; 2" pump's flange ISO 3019-1-101-2)

“""-H_,_\\ st | 1
Dim;f:;i; K11VO40 K1IVO60 K11VO75 KI1VO95 1';};'!‘1’35 f;;};'fs K11V0190 K1IVLO190K11V0260 K11VLO260§
N | ©I016 0016  ©10L6  ©0L6  ®l0L6  ®10l6 @106 @016 @016 91016 |
M| A 261 A 303 326 360 3618 394 395 4375
A, 10 10 10 10 10 10 5 = ) )
R. | 1064 1064 1064 1064 1064 1064 1064 1064 1064 1064
B 45° 45° 45° 45° 45° 45° 90° 90° 90° 90°
r IM12X'| T5X19 M12X1.75X19 M12X1.75X19 M12X1.75X16 M12X1.75X16 M12X1.75X16 M12X1.75X15 M12X1.75X15 M12X1.75X15 M12X1.75X1 5
i | & N A A A A A A A A |

| N35X2X16 N35X2X16 N35X2X16 N35X2X16 N35X2X16 N35X2X16 N35X2X16 N35X2X16 N35X2X16 N35X2X16 |
NOTE: - unavailable; & pending.

8-1. 1™ pump size 60~145 (2™ pump's flange ISO 3019-1 - 127-2)

O-rin T oy
-~ /@3’ )

~

ot

030



'E KEDA
HYDRAULIC

Code KO7 (2™ pump K11V060S, K10V063S52/71S"/71R"/85U/100U", K4VG40S/565/71S; 2™ pump's flange
ISO 3019-1-127-2 or 127-2+4)

Code K24 (2" pump K10V0855/100S™; 2™ pump's flange ISO 3019-1 - 127-2 or 127-2+4)

Code K80 (2™ pump K4VG40Z/56Z; 2™ pump's flange 1SO 3019-1-127-2 or 127-2+4)

Code K61 (2™ pump K11V060Z, K4VG40A[56A[71Z; 2™ pump's flange ISO 3019-1-127-2 2 127-2+4)

o qet
mn;};ia: K11V040 KTIVO60 K1VO75 KIVO95 1';2;‘1’?5 r;;}’]bos K11V0190 K11VLOT90KITVO260KIVLO260
N; . - »127 ®127 127 127 D127 127 127 »127 ®127
A ta: 272%-91265290%[-4/283 318 330 264 3678 400 3915 4335
A i 13 13 13 15 13 13 13 13 13
R: | - N & = 2 = Oons ans ans omns
Ry | = 181 181 181 181 181 181 181 181 181
Ps b 213 213 213 213 213 = = = =
r I = MI16X2X20M16X2X20 M16X2X16 M16X2X20 M16X2X20 M16X2X19 MISX2X19 MI16X2X19 MI16X2X19
— A A A A A A o A A
Ko7 —  TAM14TI2/24 TA"IAT12124 TA"14T12/24 T4514T-12124 V44 14T12(24 11412124 14°-14T12/24 14"14T12/24 14"14T-12/24
Hubk24 - VATT2124 1417712124 1417112124 14*17T12/24 14'-17T12/24 14™17T12/24 14°17T-12/24 1%°17T-12/24 14"17T12/24
KISUI = NZOX2X14 N30OX2X14 N30X2X14 N30X2X14 N30X2X14 N30X2X14 N30X2X14 N30X2X14 N30X2X14 .
K61 . - NZEX2X16 N3IEX2X16 NIEX2X16 N3IEX2X16 N3EX2X16 N3ISX2X16 N3EX2X16 NIEX2X16 N3IEX2X16 .
'NC}TE: - unavailable; & pending; 1) For KIOVO/11 series; 2) For K10VO/13 series; 3} A, for code KO7; 4) No code K24 for size
&60/75.
9.
| Ofing 19 0]
= | |
> !
! w2

. —

Code K86 (2™ pump K11VO75S; 2™ pump's flange ISO 3019-1-152-4)

Code K81 (2™ pump K11VO75Z, K4VG125Z; 2™ pump's flange ISO 3019-1 - 152-4)
Code K82 (2™ pump K11VO95Z, K4VG90A/125A; 2™ pump's flange ISO 3019-1-152-4)
_Code K83 (2™ pump K11V0130Z/145Z; 2™ pump's flange ISO 3019-1-152-4)

KIMVO  K11VLO

'\-C._\_\_\x\ 5t i
:]\Pl K11VO40 K11VO60 K1IVO75 K11VO95 K11VO190 K11VLO190K11VO260 K1MVLO260

Dimension 130/145  130/145
N - - ©1524  O1524 1524 ©1524 1524  ®1524  ©1524  ®1524
A | - - 29019 317] 340 374 392 424 417 459
A | - - 13 30 30 30 13 13 13 13
Rs - - 1616 01616 1616 01616  O16l6 01616 01616 01616
r . - = M20X2.5X28 M20X2.5X25 M20X2.5X25M20X2 5X25M20X2.5X22M20X2.5X22 M20X2.5X22 M20X2.5X22:
= - A A A A A A A A
K86 - - T4"-14T-12/24 14"-14T12/24 14"-14T-12/24 14"-14T-12/24 TA"14T-12/24 14"-14T-12/24 14°-14T-12/24 14"-14T-12/24
Hubk8l - —  NAOX2XI8 NAOX2XI8 NAOX2XI8 NAOX2XI8 NAOX2XI8 NAOX2XI8 N4OX2X18 N4OX2X18 |
K82 | 2 - N4SX2X21 N45X2X21 N45X2X21T N45X2X21 N45X2X21 N45X2X21 N45X2X21 N45X2X21 |
K83 = = NEOX2X24 NLOX2X24 N50X2X24 N50X2X24 NBEOX2X24 N5HOX2X24 NEOX2X24 N50X2X24

NOTE: — unavailable; 2 pending; 1) For K1I0V0O/11 series; 5) No code K82 for size 75; 6) No code K83 for size 75/95.

031



K1V(L)O AXIAL PISTON PUMP

Code K17 (2™ pump K11V0955/1305/145S, K10VO140S", K4VG90S/125S; 2™ pump's flange ISO 3019-1-152-4)

-08e

Din;i-ﬁ-iaf’ﬁ, KIIVO40 KITVO60 KiIVO75 KIIVO95 1';1;';1’?5 1";5}’158 K11VO190 K11VLO190K11VO260 KTIVLO260
N | - - - o524 1524 01524 01524 01524 01524 ©152.4
A | - - - 327 350 384 392 424 417 459
A, - = - 30 30 30 13 13 13 3
Rs = = — O6le D66 O6le 1616 01616 O616  C1616
r - = - - M20X2.5X25M20X2.5X25M20X2.5X25M20X2.5X22M20X2.5X22M20X2.5X22 M20X2 .5}(22%
s = = == A A A A AL a

- - - 1%4"13T-16/32 1%4"13T-16/32 134" 13T-16/32 134"13T-16/32 1% 13T-16/32 134"-13T-16/32 1%"-13T-16/32|
NOTE: -~ unavailable; & pending; 1) For K1I0VO/11 series.

10.

by b
o
b
2 ’—&

Code K72 (2™ pump K11VO1905/260S, K4VG180S/250S, 2™ pump's flange 1SO 3019-1 - 165-4)
Code K84 (2™ pump K11VO190Z, K4VG180Z, 2™ pump's flange ISO 3019-1 - 165-4)
Code K67 (2™ pump K11V0260Z, 2™ pump’s flange ISO 3019-1-165-4)

I K1IVO  K11VLO
e K1TVO40 K1vO60 K11VO75 KITVO95 1300145 130/145 K11VO1920 K1MVLO190K11V0260 KNVLO260
N - - - - - - D165.1 ®165.1 ®165.1 ®165.1 |
A = = & = = = 376.8/- 409/ 41771400 4597/442.5
A - = = = v & 19 19 9 19 |
Rs - - = = = = 02245 [2245 02245 02245 |
R = = = = = - ®270 ©270 ®270 270 |
r = = = = = - M20X2.5X20M20X2 5X20M20X2.5X20 M20X2.5X20
= = = = = = A A A A
K72 = = = - - - 1%4"-13T-16/32 1%4"-13T-16/32 1%"-13T-16/32 15:"-13T-16/32|
HUbK84 = = - - - - N5OX2X24 N50X2X24 N50X2X24 N50X2X24 |
K67 = = R - = = N6OX2X28 N6OX2X28 N6OX2X28 N60X2X28 |

NOTE: - unavailable; & pending; 2) A, for code K72; 4) No code K67 for size 190.

COUPLING ASSEMBLY

1. Install the specified coupling half onto the drive shaft of the axial piston unit following instructions.
2. Clamp the coupling hub ontec the drive shaft or ensure a permanent lubrication of the drive shaft.
This prevents the formation of frictional corrosion and the associated wear.

3, Transport the axial piston unit to the installation location and remove dirt and contaminants there.
4. Install the coupling on the drive shaft of the machine/system in accordance with the specifications.
Fix the axial piston unit (may not be bolted down until the coupling has been correctly installed).

5. Do not install the coupling hub onto the drive shaft of the axial piston unit by striking it.

032



